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Ben Carson’s Flat Tax Plan Would Cost $9.6 Trillion, 
While Increasing Taxes on Low-Income Families 
A Citizens for Tax Justice (CTJ) 
analysis of presidential candidate 
Ben Carson’s recently released flat 
tax plan finds that it would cost 
an estimated $9.6 trillion over 10 
years. The candidate’s proposal 
would have to be paired with 
$9.6 trillion in spending cuts to 
avoid massive annual budget 
deficits, meaning it would require 
an implausible 75 percent cut to 
all discretionary spending over 
the same time period. Carson’s 
plan would provide the wealthiest one percent of taxpayers with trillions in additional tax 
cuts, while increasing taxes on families in the bottom half of the income distribution.  

Under Carson’s plan, the bottom 20 percent of taxpayers would receive an average annual tax 
increase of $792 and the second 20 percent would get an average annual tax increase of $447, 
while the top one percent would receive an average annual tax cut of $348,434. The main 
reason Carson’s plan would increase taxes on low-income families is that it would eliminate all 
tax credits, including the highly effective Earned Income Tax Credit (EITC) and the Child Tax 
Credit (CTC).  

Two-thirds of Carson’s $9.6 trillion in proposed tax cuts, i.e., $6.3 trillion, would go to the top one 
percent of taxpayers. This highly skewed result reflects the plan’s extremely regressive features, 
including an enormous cut in top tax rates on personal and corporate income, the elimination 
of taxes on capital gains, interest and dividends, elimination of the estate and gift tax and 
immediate tax write offs for all corporate capital spending. 
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Tax Justice

10-Year Cost of Ben Carson's 14.9% Flat Tax
$-trillions

Personal income tax cuts $ –5.8
Corporate income tax cuts –3.4
Repeal estate & gift taxes –0.3

TOTAL TAX CUTS $ –9.6
Source: ITEP Microsimulation Model January 2015

ADDENDUM:
% reduction in total appropriations
required to break even with current law –75%

https://www.bencarson.com/hubfs/issues/20160103_Prescription_for_Growth.pdf?t=1451944573348
https://www.bencarson.com/hubfs/issues/20160103_Prescription_for_Growth.pdf?t=1451944573348
http://ctj.org/ctjreports/2015/09/tthe_eitc_and_ctc_greatly_reduce_poverty_congress_must_act_to_strengthen_these_programs.php


Impact of  Tax Changes Proposed by
Ben Carson in January 2016
If Fully Implemented in Tax Year 2016

Average
Income

Lowest 20% $ 15,100 +5.2% $ +792 –3%
Second 20% 30,600 +1.5% +447 –2%
Middle 20% 48,800 –0.7% –356 1%
Fourth 20% 81,000 –1.5% –1,214 5%
Next 15% 141,300 –3.2% –4,493 13%
Next 4% 308,300 –8.3% –25,508 19%
Top 1% 1,723,000 –20.2% –348,434 66%

ALL $ 85,900 –6.1% $ –5,190 100%

Addendum:
Bottom half $ 27,300 +1.4% $ +436 –5%

Source: ITEP Microsimulation Tax Model

Citizens for Tax Justice, Jan. 6, 2016

Tax Change as % 
of Income

Average Tax 
Change

Share of 
Tax Cut

Notes: This analysis includes all the elements of Carson’s tax proposal, except for his 
proposed “de minimus” tax on those who otherwise would have no positive personal 
income tax, since he does not specify the amount of that tax.

The table also does not include the negative effects of the huge program cuts that the 
tax plan would require, nor the huge negative economic effects that such program cuts 
would produce.

 

 

Carson’s 14.9 Percent “Flat Rate” is in fact 30.2 Percent for Most Americans 

Because Carson’s plan preserves the Social Security and Medicare payroll taxes, the marginal 
tax rate on the wages of most Americans under Carson’s plan would be 30.2 percent (the sum 
of Carson’s 14.9 percent rate plus the 15.3 percent payroll tax rate*). The details of Carson’s 
plan diverge significantly from his campaign rhetoric, which promised to replace the entire tax 
system with a flat income tax rate of between 10 and 15 percent. As Carson put it during a 
televised debate “you make $10 billion, you pay a billion. You make $10, you pay one.” A 
rough estimate from CTJ found that a 10 percent tax rate would cut total federal revenue in 
half and a 15 percent rate would cut revenue by a third. Given this fiscal reality, it is not 
surprising to see that Carson ultimately decided to keep Social Security and Medicare payroll 
taxes, which will provide about $13 trillion in revenue over the upcoming decade. But Carson’s 
description of his new tax plan implies, misleadingly, that the payroll tax would no longer 
exist going forward under his plan.  

http://www.cbsnews.com/news/transcript-of-the-2015-gop-debate-9-pm/
http://www.taxjusticeblog.org/archive/2015/09/ben_carsons_10_percent_flat_ta.php
http://www.taxjusticeblog.org/archive/2015/09/ben_carsons_10_percent_flat_ta.php
http://www.taxjusticeblog.org/archive/2015/12/every_major_republican_tax_pla.php


Proposed Policy Changes in the Carson Plan 

• Creates a single income tax rate of 14.9 percent, with an exemption for the first 
$36,375 for a family of four, and varying amounts for other family sizes.  
 

• Requires some unspecified (and thus was not modeled in our analysis) minimum tax 
payment from low-income families that would otherwise owe no income tax. 
 

• Eliminates all other deductions, exemptions and credits in the personal and corporate 
income tax.  
 

• Lowers the corporate tax rate to 14.9 percent and allows full expensing of capital 
investments. 
 

• Eliminates the taxation of capital gains, dividends and interest income. 
 

• Eliminates the estate tax. 
 

• Eliminates the alternative minimum tax. 

 

* The Social Security and Medicare payroll taxes are 15.3%, half paid by workers and half ostensibly paid by 
employers. Self-employed people pay the full 15.3% rate, since they have no employer. Economists generally 
agree  that the nominally employer-side of the tax is actually passed through to workers (in the form of reduced 
pay). 

                                                 


